
SAP ABAP table DIADRCPD {Output structure for one-time customers}

DIADRCPD

MANDT [CLNT (3)]

COUNTRY [CHAR (3)]

REGION [CHAR (3)]

LANGU [LANG (1)]

TZONSP [CHAR (6)]

TRANSPZONE [CHAR (10)]

T000

MANDT [CLNT (3)]

 DIADRCPD-MANDT = T000-MANDT 
0..N

0..N

T002

SPRAS [LANG (1)] DIADRCPD-LANGU = T002-SPRAS 
0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 DIADRCPD-COUNTRY = T005-LAND1 
0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 DIADRCPD-REGION = T005S-BLAND 

0..N

0..N

TTZZ

CLIENT [CLNT (3)]

TZONE [CHAR (6)]

 DIADRCPD-TZONSP = TTZZ-TZONE 

0..N

0..N

TZONE

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZONE1 [CHAR (10)]

 DIADRCPD-TRANSPZONE = TZONE-ZONE1 

0..N

0..N


